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�4EF>OM55 DG>>6>4EF6> ?> E5>D>5, <>=F46G, D57G?<D>6>5 < M>E??G4F4F<<
D4E?D>EFD4=O5FEO =4 465D< L4EFO ?<DF>6 ?D><76>4EF64 ��� «�>7<?56?<DF<4L»,

(44?55 - �,), ?D<654U==OE 6 F45?<F5 1.

�E5 ?D>F<6>?>64D=O5 �, E5DF<D<F<D>64=O 6 E>>F65FEF6<< E

FD55>64=<O<< ?> ?D545?G >7=5EF>=>>EF<. �4 >464>= ?D>F<6>?>64D=>= 465D<

L4EFO (=4 54?>5) GEF4=>6?5=4 F45?<G>4 E G>474=<5<:

- ?D><76>4<F5?O;

- 44FO <77>F>6?5=<O;

- <45=F<D<>4F<>==>7> =><5D4;

- 746>4E>>7> =><5D4 �,;

- ?D545?4 >7=5EF>=>>EF<;

- EFD4=O-<77>F>6<F5?O;

&45?<F4 1

&<? �D545?
>7=5EF>=>>EF<

�5>7=4G5=<5 �E?>?=5=<5 ,�,
<<

��,
<<

1 2 3 4 5 6
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&2 - 465D< L4EFO 46GEF6>DG4FO5, 46F><4F<G5E><5, 7>D<7>=F4?L=>-D4746<6=O5,

F5=FD4?L=>7> >F>DO64=<O;

&2 - 465D< L4EFO 46GEF6>DG4FO5, 46F><4F<G5E><5, 7>D<7>=F4?L=>-D4746<6=O5,

F5?5E>>?<G5E><5 5>>>6>7> >F>DO64=<O;

,� - L<D<=4 ?D>U<4 465D< L4EFO;

�� - 6OE>F4 ?D>U<4 465D< L4EFO.
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�4<>> �, E5DF<D<F<D>64= >4> GEFD>=EF6> 557>?4E=>EF< < <4D><DG5FEO

F45?<G>>= E G>474=<5<:

- ?D><76>4<F5?O;

- <45=F<D<>4F<>==>7> =><5D4;

- 7=4>4 E>>F65FEF6<O 6 E<EF5<5 >5O74F5?L=>= E5DF<D<>4F<<.

� >><??5>F M>E??G4F4F<>==>= 4>>G<5=F4F<<, ?>EF46?O5<>= E ?<DF><,

6E>4<F =4EF>OM55 DG>>6>4EF6>, E5DF<D<>4F E>>F65FEF6<O ?>64D=>= 557>?4E=>EF<,

E5DF<D<>4F < ?4E?>DF =4 GEFD>=EF6> 557>?4E=>EF<.

$G>>6>4EF6> ?> M>E??G4F4F<< ?D54=47=4G5=> 4?O >5E?G6<64NM57>

?5DE>=4?4 < E?5F<4?<EF>6, 4FF5EF>64==OE 6 ?>DO4>5, GEF4=>6?5==><

=4F<>=4?L=O<< =>D<4F<6=O<< ?D46>6O<< 4>F4<<, D57?4<5=F<DGNM<<<

FD55>64=<O 557>?4E=>EF< > >>=EFDG>F<< (GEFD>=EF6G) < GEF4=>6>5 ?<DF>6.

�5E?G6<64NM<= ?5DE>=4? 4>?65= 5OFL >55E?5G5= <=EFDG>F<O<< ?> >ED4=5 FDG44

< F5E=<>5 557>?4E=>EF<, <=EFDG<5=F><, 74M<F=O<< < F5E=<G5E><<< ED54EF64<<

4?O >EGM5EF6?5=<O 557>?4E=>7> 6O?>?=5=<O D45>F ?> F5E=<G5E>><G >5E?G6<64=<N

< <>=F46G �,.

�D< <>=F465, =4?44>5, M>E??G4F4F<< < F5E=<G5E>>< >5E?G6<64=<< F4>65

E?54G5F DG>>6>4EF6>64FLEO M>E??G4F4F<>==>= 4>>G<5=F4F<5= ?>EF46?O5<>= E

?<DF>< (?4E?>DF, G5DF56<, E5DF<D<>4FO).

��� «�>7<?56?<DF<4L» =5 =5EUF >F65FEF65==>EF< 74 45D5>FO ?D>4G>F4

6OF5>4NM<5 <7 =5E>5?N45=<O =4EF>OM57> DG>>6>4EF64.

��� «�>7<?56?<DF<4L» >EF46?O5F 74 E>5>= ?D46> 6=5E5=<O <7<5=5=<= 6

E?5F<D<>4F<< ?D>4G>F4 6 44==>< DG>>6>4EF65 557 ?D54G?D5645=<O.

%?<E>> >D<7<=4?L=OE 45F4?5= < E5>D>G=OE 54<=<F ?D<654U= 6

?D<?>65=<< �, ?5D5G5=L EEO?>G=OE 4>>G<5=F>6 ?D<654U= 6 ?D<?>65=<< �.

�D4D<G5E><5 E<<6>?O < E>>D4M5=<O:

?D54G?D5644NM<= 7=4> – ?D54G?D56445F > =4?<G<< 646=OE

<=EFDG>F<=, =4 >>F>DO5 E?54G5F >5D4F<FL >E>5>5 6=<<4=<5;

<=D>D<4F<>==O= 7=4> – ?D54G?D56445F > =4?<G<< 4>?>?=<F5?L=OE

<=EFDG>F<= <?< <=D>D<4F<<;

<=D>D<4F<>==O= 7=4> – ?D54G?D56445F > =4?<G<< <=D>D<4F<<,

>>F>D4O >F=>E<FEO > �, 6 ?D>F<6>?>64D=>< <E?>?=5=<<;

<=D>D<4F<>==O= 7=4> – ?D54G?D56445F > =4?<G<< <=D>D<4F<<,

>>F>D4O >F=>E<FEO > �, E >EF5>?U==O<< EF6>D>4<<;

��, - 6O?5F 465D< L4EFO, D4EEF>O=<5 >F EF5=O L4EFO 4> ?>D>74 465D<

L4EFO, >F >>F>D>7> 746<E<F 65?<G<=4 ?>?>< 45F4?5= >D5??5=<O 465D< L4EFO;

��, - >EL ?D>U<4 465D< L4EFO;

�� - >EL >45<=O;

��� - ?D<6>4 465D5= >45<=O.
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1.1 �47=4G5=<5 465D5= L4EFO

�, ?<DF4 - M?5<5=F >>=EFDG>F<< <7 E??>L=OE ?4=5?5=, <5E4=<7<4

>F>DO64=<O, >5>DG4>64==O= 46F><4F<G5E><< 74<>><, ?D54=47=4G5==O= 4?O

GEF4=>6>< 6 ?D>U<5 >7D4645=<O L4EFO =4 MF465 < >55E?5G<64NM<= >F>DO64=<5 <

74>DO64=<5 6E>4>6 6 L4EFG ?<DF4. �, <>65F E>EF>OFL <7 >4=>= <?< =5E>>?L><E

E??>L=OE ?4=5?5= (EF6>D>>), 4 F4>65 6>?NG4FL 6 E55O ?>DF4? < >5D4<?5=<5.

1.2 &5E=<G5E><5 E4D4>F5D<EF<>< 465D< L4EFO

�4 D<EG=>5 1.1 ?D54EF46?5= >5M<= 6<4 F<?>6>= �, E 7454D<F=O<<

D47<5D4<< 6 E>>F65FEF6<< E ,� 6 E65FG (E<. F45?<FG 2).

%4D4>F5D<EF<>< 74<>4 �, ?D<6545=O 6 F45?<F5 3.

$<EG=>> 1.1
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&2
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2000...2400
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��+300
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650 1380 1360
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900 1880 1860

950 1980 1960

1000 2080 2060
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2000...2400

1100

��+307

1052,5

��+744

650 1150 1132,5

700 1200 1202,5

750 1275 1282,5

800 1350 1352,5

850 1425 1432,5

900 1500 1502,5

950 1575 1582,5

1000 1650 1652,5

1050 1725 1732,5

1100 1800 1802,5

1150 1875 1882,5

1200 1950 1952,5

&45?<F4 3

&<? 74<>4 46F><4F<G5E><=

�<F4NM55 =4?DO65=<5, � 110/230

�=4G5=<5 =><<=4?L=>7> F>>4, � 0,05

$>4 F>>4 ?5D5<5==O=

�5D5<5M5=<5 74MU?>< 6 >F65F=GN G4EFL, << 7, =5 <5=55
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1.3 %>EF46 465D< L4EFO

%>EF46 �, ?D54EF46?5= =4 D<EG=>5 1.2, 1.3 < 6 F45?<F5 4.
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1.4 'EFD>=EF6> < D45>F4 465D< L4EFO

�, F5=FD4?L=>7> >F>DO64=<O - 46GEF6>DG4F4O 7>D<7>=F4?L=>-D4746<6=4O

465DL, EF6>D>< >>F>D>= ?5D5<5M4NFEO 6 ?D>F<6>?>?>6=OE =4?D46?5=<OE >F

F5=FD4.

�, ?<DF4 F5?5E>>?<G5E>4O - 46GEF6>DG4F4O 7>D<7>=F4?L=>-D4746<6=4O

465DL, EF6>D>< >>F>D>= ?5D5<5M4NFEO 6 ?4D4??5?L=OE ??>E>>EFOE, ?D<

>F>DO64=<< 74E>4O >4=4 74 4DG7GN.

�D<6>4OFEO 6 45=EF6<5 (F<>? >F>DOF<5-74>DOF<5) ?>ED54EF6><

<5E4=<G5E>>7> 6>745=EF6<O >F6>4>> ?D<6>44 465D5= >45<=O =4 D>?<>< 74<>4 �,,

>F?<D4NF 57> < ?5D5<5M4NF EF6>D><, 6UEF>> E6O74==O5 E 74<>><, 6

7>D<7>=F4?L=>< =4?D46?5=<<.

&45?<F4 4

�>7<F<O �4<<5=>64=<5

�>?<G5EF6>, LF.

'E?>6<5

?>EF46><
&2 &2 &2 &2 &2 &2

,�, <<

600...850

,�, <<

900...950

,�, <<

1000

,�, <<

1000...1200

1 �4?>4 1

-

2 �>?5D5G<=4 1

3 %F>=>4 2

4 �>D>7 >4=>DGGL56>= 1 - 1 - 1 -

5 �>D>7 1

6 �D>=LF5== 2

7 �>4?>6>4 1

8 %F6>D>4 2

9 �4=>4 E?5F<4?L=4O 4

10 �D>=LF5== 5 6 5 6 5 7

11 �D>=LF5== 65DE=<= 2

12 $4DFG> 1

13 �>D>7 46GEDGGL56>= - 1 - 1 - 1

14 �D<6<<

�� <<,

2000...2200
12 13 14

13

U
14 13

?D< =4?<G<<

>5D4<?5=<=�� <<,

2300...2400
14 15 14 15 14 15

15 �>7ODU> 1

4?O �, 6

?D>F<6>?>64D=><

<E?>?=5=<<

16

'EFD>=EF6>

>F>DO64=<O 74<>4 <7

?D<O<>4 (GEF4=46?<645FEO

=4 �, =<6=57> MF464)

1
�D< >4=>< 6OE>45 =4

=<6=5< MF465

-
2

�D< 46GE 6OE>44E =4 =<6=5<

MF465

17 �?4EF<=4 2 3

18 �4L<4> 4

19 �>?44OL 4

20 �5E4=<7< 74>DO64=<O - 1 - 1 - 1

21 �D>=LF5==

�� <<,

2000...2200
6 4?O �, 6

?D>F<6>?>64D=><

<E?>?=5=<<
�� <<,

2300...2400
8
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2�>=F46 465D5= L4EFO < <=EFDG>F<< ?> D57G?<D>6>5

�> =4G4?4 <>=F464, =5>5E>4<<> GF>5O EFD><F5?L=O= ?>4DO4G<>

?D54>EF46<? �4< <=D>D<4F<N >5 GD>6=5 G<EF>7> ?>?4. �?O >?D545?5=<O

?D>5>F=>7> ?>?>65=<O >E< ?D>U<4 �, (D<EG=>> 2.1), =5>5E>4<<>

DG>>6>4EF6>64FLEO <>=F46=O<< G5DF564<<, >>F>DO5 6E>4OF 6 M>E??G4F4F<>==GN

4>>G<5=F4F<N, ?>EF46?O5<GN E ?<DF><.

�>=F46 �, 6O?>?=OFL F>?L>> ?>E?5 GEF4=>6>< < 6O65D>< =4?D46?ONM<E

>45<=O. �4G<=4FL <>=F46 E ?5D6>7> MF464, 5E?< �, ?>44NFEO E65DEG, ?<5> E

65DE=57> MF464, 5E?< 465D< ?>44NFEO E=<7G.

4) >EL ?D>U<4 �, E>6?4445F E >ELN >45<=O;

5) >EL ?D>U<4 �, E> E<5M5=<5< >F=>E<F5?L=> >E< >45<=O

$<EG=>> 2.1
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�D< =4E>645=<< >45<=O 6 7>=5 F>G=>= >EF4=>6><, ?>D>7 >45<=O < ?>D>7
�, =4E>4OFEO =4 >4=>< GD>6=5, >F6>4>< ��� 4>?6=O D4E?>?474FLEO <564G

D>?<>4<< 74<>4 �, 6 E>>F65FEF6<< E D<EG=>4<< 2.2 < 2.3.

$<EG=>> 2.2
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�?O ?<DF>6 <>45?5= ���, 74<>> 464D<==>7> >F>DO64=<O �, =<6=57>
MF464 >E=4M45FEO 5<EF45<?L=O< 6O>?NG4F5?5< E M?5>FD>==O< 6>76D4F>< 4?O

EF4=F<= G?D46?5=<O '� <?< <>=>EF45<?L=O< 4?O EF4F<< G?D46?5=<O Arkel

(D<EG=>> 2.4).

�D< =4?<G<< 46GE 6OE>4>6 =4 =<6=5< MF465 (?D>E>4=4O >45<=4)

6O>?NG4F5?L GEF4=46?<645FEO =4 74<>4E 464D<==>7> >F>DO64=<O >55<E �,.

$<EG=>> 2.4
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�?O >55E?5G5=<O =44U6=>EF< E>54<=5=<O G7?>6 < 45F4?5= E ?><>MLN
D57L5>6>7> >D5??5=<O 4>?65= 5OFL E>5?N4U= <><5=F 74FO6>< E>7?4E=> F45?<F5 5.

�><5=F 74FO6>< >>=FD>?<D>64FL ?>65D5==O< <=EFDG<5=F><. �?4EE

>F65FEF65==>EF< D57L5>6>7> E>54<=5=<O - III (>5M57> =47=4G5=<O).

�><5=F 74FO6>< 4=>5D>6 6 E>>F65FEF6<< E D5>><5=44F<O<< ?D><76>4<F5?O.

&45?<F4 5

�>?FO
�4>E<<4?L=O= >DGFOM<= <><5=F 74FO6><, �·< 4?O >?4EE4 ?D>G=>EF< 5>?F4

4.6 5.8 8.8

�6 - 5 10

�8 - 16 25

�10 16,3 - -

�12 - 56 -

0411.03.00.022 8,5 - -
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2.1�>=F46 465D5= L4EFO ?>EF46?O5<OE 6 E>5D4==>< 6<45

�>=F46 �, 6 E>5D4==>< 6<45 ?D><76>4<FL 6 E>>F65FEF6<< E D<EG=>4<<

2.5-2.13.

,�, << 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200

&<?

�,

&2
�, <<

500 560 600 700 700 800 800 900 260 - - - -

&2 500 560 600 700 700 800 800 800 260 260 310 310 360

&2
�, <<

- - - - - - - - 900 - - - -

&2 - - - - - - - - 900 900 1000 1000 1100

$<EG=>> 2.5

�=>5DO 6 >><??5>F ?>EF46>< =5 6E>4OF
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&<?
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,�, <<

d e f

�>?F �10×30

DIN 603

�4=>4 �10

L5EF<7D4==4O E D?4=F5< %&� EN 1661

�>?F �8×20

E L5EF<7D4==>= 7>?>6>>= E D?4=F5< ��%& ISO 4162

&2
600...900 ×5 ×5 ×4

1000 ×6 ×6 ×4

$<EG=>> 2.7
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&<?

�,
,�, <<

d e f

�>?F �10×30

DIN 603

�4=>4 �10

L5EF<7D4==4O E D?4=F5< %&� EN 1661

�>?F �8×20

E L5EF<7D4==>= 7>?>6>>= E D?4=F5< ��%& ISO 4162

&2
600...900 ×6 ×6 ×4

1000...1200 ×7 ×7 ×4

$<EG=>> 2.8
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$<EG=>> 2.9

�?O <E>?NG5=<O ?>?444=<O 6>4O 6 L4EFG , D5>><5=4G5FEO

GE F 4= 46?<64 F L ?>D > 7 �, 6OL5 GD>6=O G<E F > 7 > ?>? 4

E >55E?5G5=<5< G>?>=4 4?O >><D>DF=>7> 6E>44 6 >45<=G.
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,�, << 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200

&<?

�,

&2
�, <<

980 1030 1080 1130 1180 1230 1280 1330 1380 - - - -

&2 470 495 520 560 595 630 670 710 745 780 820 885 895

&2 �, << 133 133 135 145 160 170 185 200 210 220 235 245 260

$<EG=>> 2.10

�=>5DO 6 >><??5>F ?>EF46>< =5 6E>4OF
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&<?

�,
,�, <<

�<=F 4,2×13.&6.ED.5F6

&' �Y 400024166.012

�?4EF<=4

0463�.36.00.005

&2 600...1000 ×5 ×2

&2
600...1000 ×5 ×2

1100...1200 ×7 ×3

$<EG=>> 2.14

�N55?< 6 >><??5>F ?>EF46>< =5 6E>4OF
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2.2�>=F46 465D5= L4EFO ?>EF46?O5<OE 6 D47>5D4==>< 6<45

�>=F46 �, 6 D47>5D4==>< 6<45 ?D><76>4<FL 6 E>>F65FEF6<< E

D<EG=>4<< 2.15-2.38.

,�, << 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200

&<?

�,

&2
�, <<

500 560 600 700 700 800 800 900 260 - - - -

&2 500 560 600 700 700 800 800 800 260 260 310 310 360

&2
�, <<

- - - - - - - - 900 - - - -

&2 - - - - - - - - 900 900 1000 1000 1100
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&<?

�,
,�, <<

�>?F �12×25

��%& 7798

�>?F �8×16

��%& 7798

�4=>4 �8

L5EF<7D4==4O E

D?4=F5<

%&� EN 1661

�4=>4 �12

L5EF<7D4==4O E

D?4=F5<

%&� EN 1661

�>?F

0411.03.00.022

�>?F �10×30

DIN 603

�4=>4 �10

L5EF<7D4==4O E

D?4=F5<

%&� EN 1661

&2 600...1000 ×2 ×2 ×6 ×2 ×4 ×3 ×3
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&<?

�,
,�, <<

�>?F �12×25

��%& 7798

�4=>4 �12

,5EF<7D4==4O

E D?4=F5<

%&� EN 1661

�>?F

0411.03.00.022

�4=>4 �8

L5EF<7D4==4O E

D?4=F5<

%&� EN 1661

�>?F �10×30

DIN 603

�4=>4 �10

,5EF<7D4==4O

E D?4=F5<

%&� EN 1661

&2 600...1000 ×2 ×2 ×4 ×4 ×3 ×3
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&<?

�,
,�, <<

�>?F �8×16

��%& 7798

�>?F �12×25

��%& 7798

�4=>4 �8

L5EF<7D4==4O E

D?4=F5<

%&� EN 1661

�4=>4 �12

L5EF<7D4==4O E

D?4=F5<

%&� EN 1661

�>?F

0411.03.00.022

�>?F �10×30

DIN 603

�4=>4 �10

L5EF<7D4==4O E

D?4=F5<

%&� EN 1661

&2
600...900 ×2 ×2 ×6 / ×7 ×2 ×4 / ×5 ×3 ×3

1000...1200 ×2 ×2 ×6 / ×7 ×2 ×4 / ×5 ×4 ×4
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,�, <<

�>?F �12×25

��%& 7798

�4=>4 �12

,5EF<7D4==4O

E D?4=F5<

%&� EN 1661

�4=>4 �8

L5EF<7D4==4O E

D?4=F5<

%&� EN 1661

�>?F

0411.03.00.022

�>?F �10×30

DIN 603

�4=>4 �10

,5EF<7D4==4O

E D?4=F5<

%&� EN 1661

&2 600...1000 ×2 ×2 ×4 ×4 ×3 ×3
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>F<=>>64==O=

$<EG=>> 2.20

�?O <E>?NG5=<O ?>?444=<O 6>4O 6 L4EFG , D5>><5=4G5FEO

GE F 4=46?<64 F L ?>D > 7 �, 6OL5 GD >6=O G< E F > 7 > ?>? 4

E >55E?5G5=<5< G>?>=4 4?O >><D>DF=>7> 6E>44 6 >45<=G.
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&<?

�,
,�, <<

�>?F

0411.03.00.022

�4=>4 �8 L5EF<7D4==4O

E D?4=F5< %&� EN 1661

��

2000-2200

��

2300-2400

��

2000-2200

��

2300-2400

&2
600...850 ×12 ×14 ×12 ×14

900...1000 ×14 ×14 ×14 ×14

,�, <<
��-2000,
<<

��-2100,
<<

��-2200,
<<

��-2300,
<<

��-2400,
<<

600...850

�, << 531 531 531 531 581

�, << 485 535 585 410 410

�, << 335 385 435 300 300

�, << 531 531 531 410 410

�, << - - - 531 581

900...1000

�, << 531 531 531 531 581

�, << 485 535 585 410 410

�, << 335 385 435 300 300

�, << 531 531 531 410 410

�, << - - - 531 581
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��-2400,
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�, << 485 535 585 410 410

�, << 335 385 435 300 300

�, << 531 531 531 410 410

�, << - - - 531 581

&<?

�,
,�, <<

�>?F

0411.03.00.022

�4=>4 �8 L5EF<7D4==4O

E D?4=F5< %&� EN 1661

��

2000-2200

��

2300-2400

��

2000-2200

��

2300-2400

&2 600...1200 ×13 ×15 ×13 ×15
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,�, << 2000 2100 2200 2300 2400

600...1000

�, << 650 700 750 480 530

�, << 650 700 750 640 640

�, << - - - 480 530

&<? �, ��, <<

�>?F

0411.03.00.022

�4=>4 �8 L5EF<7D4==4O

E D?4=F5< %&� EN 1661

&2
2000...2200 ×6 ×6

2300...2400 ×8 ×8
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,�, << 2000 2100 2200 2300 2400

600...1200

�, << 650 700 750 480 530

�, << 650 700 750 640 640

�, << - - - 480 530

&<? �, ��, <<

�>?F

0411.03.00.022

�4=>4 �8 L5EF<7D4==4O

E D?4=F5< %&� EN 1661

&2
2000...2200 ×6 ×6

2300...2400 ×8 ×8
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�>?F
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�4=>4 �8 L5EF<7D4==4O

E D?4=F5< %&� EN 1661

&2 600...1000 ×10 ×10
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&<?

�,
,�, <<

�>?F �6×16 E L5EF<7D4==>= 7>?>6>>=

E D?4=F5< ��%& ISO 4162

�4=>4 �6 L5EF<7D4==4O

E D?4=F5< %&� EN 1661

�4>?U?>4 4,8E8-St/St

��%& $ �%� 15979

T2
600...800 ×4 ×4 ×4

850...1200 ×6 ×6 ×6

,�, <<

$<EG=>> 1 $<EG=>> 2

600...650 700 750...800 850...1100 1150...1200

�, << �, << �, << �, << �, << �, << �, << �, << �, << �, << �, << �, <<

��,

<<

2000 792 980 792 980 792 980

270

980 522

270

980 522

2100 842 1030 842 1030 842 1030 1030 572 1030 572

2200 892 1080 892 1080 892 1080 1080 622 1080 622

2300 942 1130 942 1130 942 1130 1130 672 1130 672

2400 992 1180 992 1180 992 1180 1180 722 1180 722
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&<?

�,
,�, <<

�>?F

0411.03.00.022

�4=>4 �8 L5EF<7D4==4O

E D?4=F5< %&� EN 1661

&2 600...1200 ×12 ×12
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&<?

�,

,�, <<

�>?F �8×20

E L5EF<7D4==>= 7>?>6>>= E D?4=F5<

��%& ISO 4162

&2 600...1000
×4

&2 600...1200
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$<>E4F>D GEF4=46?<645FEO =4 ?5D<>4 FD4=E?>DF<D>6>< G7?4

74>47G<>G ?D< ?>EF46>5 465D5= 6 D47>5D4==>< 6<45. �>E?5 <>=F464

�,, D<>E4F>D 4>?GE>45FEO E=OFL.
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&<?
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,�, <<
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�>?F �10×30

DIN 603
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L5EF<7D4==4O E D?4=F5<

%&� EN 1661

&2 600...1000 ×2 ×2

&2 600...1200 ×3 ×3
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600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200
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980 1030 1080 1130 1180 1230 1280 1330 1380 - - - -

&2 470 495 520 560 595 630 670 710 745 780 820 885 895

&2 �, << 133 133 135 145 160 170 185 200 210 220 235 245 260
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&<?

�,
,�, <<

�4=>4 �8

��%& 5927

,4=54 8

��%& 10463

&2 600...1200 ×1 ×1
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$<EG=>> 2.34

�5576<D<FL ?>65DE=>EFL EF6>D>< E?<DF>E>45D64M<< >G<EF<F5?5<
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47

&<?

�,
,�, <<

�>?F �8×20

DIN 603

�4=>4 �8 L5EF<7D4==4O

E D?4=F5< %&� EN 1661

�4=>4 �10

��%& 5927

,?<?L>4

0463�.36.07.004

,4=54 10

��%& 10463

&2 600...1000
— — — — —

2×2 - 2×2 - 8×2 4×2 4×2 - 4×2 4×2

$<EG=>> 2.35
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&<?

�,
,�, <<

�>?F �8×20

DIN 603

�4=>4 �8 L5EF<7D4==4O

E D?4=F5< %&� EN 1661

�4=>4 �10

��%& 5927

,?<?L>4

0463�.36.07.004

,4=54 10

��%& 10463

&2 600...1000
— — — — —

2×2 - 2×2 - 8×2 4×2 4×2 - 4×2 4×2
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&<? �, ,�, <<

�4=>4 �8

��%& 5927

,4=54 8

��%& 10463

&2 600...1000 ×8 ×4

&2 600...1200 ×8 ×4

$<EG=>> 2.37
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&<?

�,
,�, <<

�<=F 4,2×13.&6.ED.5F6

&' �Y 400024166.012

�?4EF<=4

0463�.36.00.005

&2 600...1000 ×5 ×2

&2
600...1000 ×5 ×2

1100...1200 ×7 ×3
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2.3�>=F46 GEFD>=EF64 >F>DO64=<O 74<>4 <7 ?D<O<>4

'EFD>=EF6> >F>DO64=<O 74<>4 <7 ?D<O<>4 GEF4=46?<645FEO =4 �, =<6=57>

MF464. �D< =4?<G<< 46GE 6OE>4>6 =4 =<6=5< MF465 (?D>E>4=4O >45<=4),

GEFD>=EF6> >F>DO64=<O 74<>4 <7 ?D<O<>4 GEF4=46?<645FEO =4 >55<E 465DOE.

&<?

�,
,�, <<

�>?F �6×30

DIN 603

,4=54 6

��%& 6958

,4=54 6

��%& 6402

�4=>4 �6

��%& 5915

�?<?E4

>D5??5=<O

FDG5><

mph-60558

�<=F 4,2×13.

&6.ED.5F6

&' �Y

400024166.011

,4=54 4

��%& 6402

�4=>4 �4

��%& 5915

�<=F �4×8

��%& 17473

&2 600...1000 ×1 ×1 ×1 ×1 ×1 ×4 ×1 ×1 ×3

&2 600...1200 ×1 ×1 ×1 ×1 ×1 ×4 ×1 ×1 ×3

$<EG=>> 2.39
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&<?

�,

,�,

<<

�>?F �6×30

DIN 603

,4=54 6

��%& 6958

,4=54 6

��%& 6402

�4=>4 �6

��%& 5915

�?<?E4

>D5??5=<O

FDG5><

mph-60558

�<=F 4,2×13.

&6.ED.5F6

&' �Y

400024166.011

,4=54 4

��%& 6402

�4=>4 �4

��%& 5915

�<=F �4×8

��%& 17473

%FO6>4

RCV-100

&2 600...1000 ×1 ×1 ×1 ×2 ×1 ×4 ×1 ×1 ×3 ×1

&2 600...1200 ×1 ×1 ×1 ×2 ×2 ×4 ×1 ×1 ×3 ×1

$<EG=>> 2.40
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2.4 $57G?<D>6>4 465D5= L4EFO

$57G?<D>6>G ?D><76>4<FL 6 E>>F65FEF6<< E D<EG=>4<< 2.41-2.50.
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$<EG=>> 2.42
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$<EG=>> 2.45

�>=FDD>?<>< 4>?6=O 5OFL ?D<64FO > ?D>D<?N =4?D46?ONM5=

E 6>7<>6=>EFLN <E ?D>6>D4G<64=<O >F DG><.
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$<EG=>> 2.46

� 74>DOF>< ?>?>65=<< >4D5F>< 4>?6=O >4E4FLEO F5=FD4?L=>7>

G?>D4. � 74>DOF>< ?>?>65=<< 74MU?>4 74<>4 4>?6=4 =4E>4<FLEO

=5 =<65 <5F>< �.
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� 74>DOF>< ?>?>65=<< >4D5F>4 4>?6=4 >4E4FLEO G?>D4. � 74>DOF><

?>?>65=<< 74MU?>4 74<>4 4>?6=4 =4E>4<FLEO =5 =<65 <5F>< �.
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$57G?<D>6>4 6E>645=<O D>?<>>6 6 >F6>4>< >55E?5G<645FEO E<5M5=<5<

?D<6>44 465D5= >45<=O.
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$<EG=>> 2.49

�>E?5 GEF4=>6>< 6E5E 747>D>6 G554<FLEO ?D< ?><>M< <G?LF<<5FD4,

GF> >>=F4>FO 6O>?NG4F5?5= ED454FO64NF, < 74<>> 74?<D45FEO ?D<

E4<>EF>OF5?L=>< 74>DO64=<< 465D5= <7 ?>?>65=<O, =5 ?D56OL4NM57>

>4=>= FD5F< E>44 EF6>D><. �D<45D64FL EF6>D>G DG>>=, 4464O 5=

E4<>EF>OF5?L=> 46<74FLEO ?> ?<=5=>5.
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$<EG=>> 2.50

�>E?5 GEF4=>6>< 6E5E 747>D>6 G554<FLEO ?D< ?><>M< <G?LF<<5FD4,

GF> >>=F4>FO 6O>?NG4F5?5= ED454FO64NF, < 74<>> 74?<D45FEO ?D<

E4<>EF>OF5?L=>< 74>DO64=<< 465D5= <7 ?>?>65=<O, =5 ?D56OL4NM57>

>4=>= FD5F< E>44 EF6>D><. �D<45D6<64=F5 EF6>D>G DG>>=, 4464O 5=

E4<>EF>OF5?L=> 46<74FLEO ?> ?<=5=>5.
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3 �4<>> 464D<==>7> >F>DO64=<O

3.1 �D>65D>4 D45>F>E?>E>5=>EF< 74<>4 464D<==>7> >F>DO64=<O

�D>65D>4 74<>4 >EGM5EF6?O5FEO E>7?4E=> D<EG=>G 3.1.

$<EG=>> 3.1

�D< =56>76D4F5 74<>4 6 <EE>4=>5 ?>?>65=<5 – =4=F< ?D<G<=G <

GEFD4=<FL 5U. �D<G<=>= <>65F 5OFL >4> D<7<G5E>>5 6>745=EF6<5 =4

DOG47< <5E4=<7<4 ?>EF>D>==<<< ?D54<5F4<< <?< <4F5D<4?4<<, F4> <E

?5D5>>E, 6>7=<>L<= ?D< <>=F465. '554<FLEO 6 F5?>EF=>EF< ?DG6<=O.
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3.2 �D<<5=5=<5 464D<==>7> >?NG4 >F>DO64=<O 465D5= L4EFO

�D<<5=5=<5 >?NG4 ?D< 464D<==>= M64>G4F<< <7 >45<=O E>7?4E=> D<EG=>G 3.2.

$<EG=>> 3.2

� F5?OE 557>?4E=>EF< F>?L>> ?5DE>=4? , >5GG5==O= <5F>4<>5

557>?4E=>= M64>G4F<< ?N45= , <>65F 5OFL G?>?=><>G5=

<E?>?L7>64FL 464D<==O= >?NG.
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4�>=F46 >5D4<?5=<=

�>=F46 45>>D4F<6=OE >5D4<?5=<= ?D><76>4<FL 6 E>F65FEF6<< E D<EG=>4<<

4.1-4.2.

�5D4<?5=<O O6?ONFEO 45>>D4F<6=>= >F45?>>= EFD><F5?L=>7> ?D>U<4 < =5

6E>4OF 6 >><??5>F �,, ?>MF><G ?>EF46?ONFEO ?> 74>47G 6<5EF5 E ?D<6<<4<< <

>D5?56>< 4?O <E GEF4=>6><.

�D< GEF4=>6>5 >5D4<?5=<=, <77>F>6?5==OE EF>D>==<<< >D74=<74F<O<<,

746>4 =5 =5EUF >F65FEF65==>EF< 74 <E >4G5EF6> < E>6<5EF<<>EFL E �,

?D><76>4EF64 ��� «�>7<?56?<DF<4L».

� E?GG45 GEF4=>6>< >5D4<?5=<=, =5 E>7?4E>64==OE E

746>4><-<77>F>6<F5?5<, ��� «�>7<?56?<DF<4L»:

- E=<<45F 74D4=F<==O5 >5O74F5?LEF64 =4 �,, 5E?< ?D< GEF4=>6>5 F4><E

>5D4<?5=<= <<5?> <5EF> 6<5L4F5?LEF6> 6 >>=EFDG>F<N �, (<?< 5U

E>EF46=OE G4EF5=) =5 E>7?4E>64==>5 E 746>4><-<77>F>6<F5?5<;

- =5 74D4=F<DG5F E>>F65FEF6<5 �, FD55>64=<O< >7=5EF>=>>EF< 6 <5EF4E

?D<<O>4=<O > EF5=5.



66 �,.00.00.001 $-

&<? �, &2, &2 &2
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��%& 6402 ×8
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&<?

�,

�D>U<,

<<
�<=F

�.�5×16

��%& 17473

,4=54 5

��%& 6402

&2, &2
600...120

0

×8 ×8

$<EG=>> 4.2
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5 %FD><F5?L=4O G4EFL L4EFO ?<DF4

�4F5D<4? EF5= EFD><F5?L=>7> ?D>U<4 4>?65= >55E?5G<64FL GEF>=G<6>EFL <

6UEF>>EFL >D5??5=<O >>=EFDG>F<< �, ?<DF4.

�?>E>>EF< EFD><F5?L=>7> ?D>U<4 4>?6=O 5OFL D>6=O<<, 557 =4??O6>6

LFG>4FGD=>7> D4EF6>D4 < FD5M<=.

%FD><F5?L=>5 ?D<<O>4=<5 > >>=EFDG>F<< �, <7>5D465=> =4 D<EG=>5 5.1.

�?O >55E?5G5=<O EFD><F5?L=>7> ?D<<O>4=<O ?>E?5 <>=F464, =4?44><,

D57G?<D>6>< �, < ?<DF4, 747>DO, >5D47GNM<5EO <564G >>=EFDG>F<5= �, ?<DF4 <

EF5=>= L4EFO, 4>?6=O 5OFL 7445?4=O (74?>?=5=O) 6 E>>F65FEF6<< E D<EG=>4<< 5.2,

5.3. �4==O5 D45>FO 6O?>?=ONFEO �4>47G<>>< E4<>EF>OF5?L=> < F>?L>> ?>E?5

>>>=G4=<O <>=F46=OE < ?GE>>-=4?44>G=OE D45>F, 6 E?GG45, 5E?< MF> =5 >7>6>D5=>

>F45?L=>.

�D< 74?>?=5=<< 747>D>6 <564G EF5=>= L4EFO ?<DF4 < >>=EFDG>F<5= �, 4?O

G45D64=<O <4F5D<4?4 4>?GE>45FEO <E?>?L7>64=<5 M5?56OE M>D4=>6 <7 ?<EF>6>=

EF4?<. �?O 57> GEF4=>6>< >4<= >D4= ?<EF4 7446<=GFL ?>4 EF>=>G, 4 6F>D>=

74>D5?<FL > EF5=5 4N55?O<< >4> ?>>474=> =4 D<EG=>4E 5.2, 5.3. $47<5D M5?56>7>

M>D4=4 6O5<D45FEO ?> <5EFG, <EE>4O <7 7?G5<=O GEF4=>6>< 465D<. -5?56O5 M>D4=O

=4 746>45-<77>F>6<F5?5 �, =5 <77>F46?<64NFEO < E ?<DF>< =5 ?>EF46?ONFEO.

$<EG=>> 5.1
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$<EG=>> 5.2

�47>DO 74?>?=<FL F5<5=F=>-?5EG4=O< D4EF6>D><. �D< =4?<G<<

>5D4<?5=<= 747>DO <564G EF5=>= L4EFO < >>=EFDG>F<5= �,

4>?GE>45FEO =5 74?>?=OFL.
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$<EG=>> 5.3

�47>DO 74?>?=<FL F5<5=F=>-?5EG4=O< D4EF6>D>< <?< 4DG7<<

>7=5EF>=><< <4F5D<4?>< 4> FD55G5<>7> ?D545?4 >7=5EF>=>>EF<

(=5 <5=55 ?D545?4 >7=5EF>=>>EF< �,) <7 <4F5D<4?>6 7DG??O 7>DNG5EF<

�� (=57>DNG<=).
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6 &5E=<G5E>>5 >5E?G6<64=<5

� =4EF>OM5< ?>4D4745?5 <=EFDG>F<< ?D<6545=O G>474=<O < E6545=<O >

?>DO4>5 ?D>6545=<O < >5NU<5 D45>F ?D< ?D>6545=<< F5E=<G5E>>7> >5E?G6<64=<O

�, ?<DF4.

�?O 557>F>47=>= D45>FO �, 6 E>EF465 ?<DF4 =5>5E>4<<> ?D><76>4<FL <E

F5E=<G5E>>5 >5E?G6<64=<5 E 7444==>= ?5D<>4<G=>EFLN < 6 ?>?=>< >5NU<5.

�D< 565<5EOG=><, >64DF4?L=><, ?>?G7>4>6>< < 5657>4=>< F5E=<G5E>><

>5E?G6<64=<< ?<DF4 =5>5E>4<<> 6O?>?=OFL >?5D4F<<, >F<5G5==O5 7=4>>< "+" 6

F45?<F5 6.

�D< GEF4=>6>5 < M>E??G4F4F<< �, ?<DF4, 4?O E>ED4=5=<O >4G5EF65==>7>

?>D>L>>6>7> ?>>DOF<O, =5 4>?GE>45FEO ?>?444=<5 =4 ?<F56O5 G4EF< ?4=5?5= �,

M5?>G5=, <765EF>>6OE < F5<5=F=OE D4EF6>D>6, >F55?<64F5?5= <

=<FD>D4EF6>D<F5?5=. �5=EF6<5 MF<E 65M5EF6 =4 >>D4L5==O5 ?>65DE=>EF< 6O7O645F

<7<5=5=<5 >4G5EF64 ?>65DE=>EF<. �D< =4DGL5=<< 44==OE FD55>64=<= ?>EF46M<>

>F65FEF65==>EF< 74 >4G5EF6> ?>65DE=>EF< =5 =5EUF. �D5F5=7<< =5 ?D<=<<4NFEO.

�>E?5 <>=F464 ?<DF4 < E=OF<O 74M<F=>= ??U=>< E ?4=5?5=, <77>F>6?5==OE

<7 =5D6465NM5= EF4?<, 4 F4>65 ?D< 747DO7=5=<< (7DO7L, 6<D>6O5 ?OF=4) 6 ?D>F5EE5

M>E??G4F4F<<, =5>5E>4<<> ?D><76>4<FL FM4F5?L=GN >5D45>F>G <E ?>65DE=>EF< =5

D47654U==O< <>NM<< ED54EF6>< (>5D45>F>G ?D><76>4<FL E4?D5F>>= <7

<<>D>D<5DO E FM4F5?L=>= ?>E?54GNM5= ?D><O6>>= 6>4>=).

&45?<F4 6

�5D5G5=L D45>F
&5E=<G5E><5

FD55>64=<O

%>45D64=<5 D45>F

< <5D>?D<OF<O

�5D<>4<G=>EFL
D45>F

1
<
5E
O
F

3
<
5E
O
F

6
<
5E
O
F

1
7>
4

1 2 3 4 5 6 7

1 �>=FD>?L

E>EF>O=<O EF6>D>>

�,

�5D5>FO ?4>>>D4E>G=>7>

?>>DOF<O (44?55 ���) <

<5E4=<G5E><5 ?>6D5645=<O

(6<OF<=O < F.4.) 7?G5<=>=

5>?55 5 << =5 4>?GE>4NFEO

�>EEF4=>6<FL ���.

�5E4=<G5E><5

?>6D5645=<O

GEFD4=<FL.

�D< =5>5E>4<<>EF<

74<5=<FL EF6>D><

+

2 �>=FD>?L

E>EF>O=<O ?>D>74

�4?<G<5 7DO7<, ?>EF>D>==<E

?D54<5F>6, <GE>D4 < F.4. =5

4>?GE>45FEO

�G<EF<FL ?>D>7

+

3 �>=FD>?L

E>EF>O=<O

>5>DG4>64=<O 54?><

�, (>4D5F><,

D>?<><,

>>=FDD>?<><,

6O>?NG4F5?<, 74<>>,

?<=5=>4 < 4D.)

�4?<G<5 7DO7<, ?O?< <

?>EF>D>==<E ?D54<5F>6 =5

4>?GE>45FEO

�G<EF<FL

>5>DG4>64=<5 54?><

+

4 �>=FD>?L

E>EF>O=<O ?DG6<=O

�4?<G<5 <5E4=<G5E><E

?>6D5645=<= (FD5M<=, E?54>6

FD5=<O) =5 4>?GE>45FEO

�4<5=<FL ?DG6<=G

+
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�>>=G4=<5 F45?<FO 6
1 2 3 4 5 6 7

5 �>=FD>?L

E>EF>O=<O D>?<>>6

>4D5F>> < D>?<>>6

74<>4 �,

�4?<G<5 <5E4=<G5E><E

?>6D5645=<= (FD5M<=,

?>?><>>) =5 4>?GE>45FEO.

�5 4>?GE>45FEO =4?<G<5 <7=>E4

65DE=<E D>?<>>6 >4D5F>>

>5GE?>6?5==>7>:

- >FEGFEF6<5< 747>D4 <564G

65DE=<< D>?<>>< >4D5F>> <

?D>D<?5< =4?D46?ONM5=;

- LG<>< ?>E?5 6OE>44 <7 EFD>O

?>4L<?=<>4

�4<5=<FL D>?<><

+

6 �>=FD>?L
?>?>65=<O =<6=<E
D>?<>>6
(>>=FDD>?<>>6)
>4D5F>>

�>?>65=<5 =<6=<E D>?<>>6
4>?6=> E>>F65FEF6>64FL
D<EG=>> 2.36 =4EF>OM57>
DG>>6>4EF64. �D< 74>DOF><
74<>5 �,, ?D<?>6<6 GE<?<5
150 � > 654GM5= EF6>D>5
(EF6>D>4<) 6 ?N5>= F>G>5
=4?D46?5==>5 =4 >F>DO64=<5, =5
4>?GE>45FEO ?D56OL5=<5 747>D4
<564G E><>=GFO<< EF6>D>4<<:
- 30 << 4?O 465D5= 5>>>6>7>
>F>DO64=<O;
- 45 << 4?O 465D5=
F5=FD4?L=>7> >F>DO64=<O.

�D< =5>5E>4<<>EF<
?D><765EF<
D57G?<D>6>G =<6=<E
D>?<>>6 >4D5F>>

+

7 �>=FD>?L
?>?>65=<O D>?<>>6
74<>4 >F=>E<F5?L=>
>F6>4>>

�>?>65=<5 D>?<>>6 74<>4
4>?6=> E>>F65FEF6>64FL
D<EG=>> 2.39 =4EF>OM57>
DG>>6>4EF64

�D< =5>5E>4<<>EF<
?D><765EF<
D57G?<D>6>G 74<>4

+

8 �>=FD>?L D45>FO
6O>?NG4F5?O 74<>4
�,

�D< 6>745=EF6<< =4 D>?<>
>F?<D4NM<= 74<>> �, <
=464F<< =4 >=>?>G ?D<>474 =4
>DOL5 >45<=O, >45<=4 =5
4>?6=4 ?D<E>4<FL 6 46<65=<5.

�D< =5>5E>4<<>EF<
?D><765EF< 74<5=G
6O>?NG4F5?O

+

�47>DO 6 74<>5 4>?6=O
E>>F65FEF6>64FL D<EG=>>
2.40-2.41 =4EF>OM57>
DG>>6>4EF64

�D< =5>5E>4<<>EF<
?D><765EF<
D57G?<D>6>G
6O>?NG4F5?O

9 �>=FD>?L 747>D4
<564G EF6>D>4<< <
?>DF4?><

�47>DO 4>?6=O
E>>F65FEF6>64FL D<EG=>> 2.33
=4EF>OM57> DG>>6>4EF64

�D< =5>5E>4<<>EF<
?D><765EF<
D57G?<D>6>G EF6>D>>

+

10 �>=FD>?L
E>EF>O=<O <
=4FO65=<O FD>E>6
E<=ED>=<74F<<

�?<=4 ?>464F>= ?DG6<=O
FD>E4 E<=ED>=<74F<< >4D5F>>
4>?6=4 5OFL 6 ?D545?4E
15÷15,5 << (D<EG=>> 2.34).

�D< =5>5E>4<<>EF<
?D><765EF<
D57G?<D>6>G
=4FO65=<O FD>E4. +

�4?<G<5 ?>6D5645=<=
(>5DO6>6) 6<? FD>E4 =5
4>?GE>45FEO

�D><765EF< 74<5=G
FD>E4

11 �>=FD>?L
E>EF>O=<O 6>?44OL5=
54L<4>>6 EF6>D>>

�NDF 54L<4>>6 EF6>D>> 6
DGGL5 ?>D>74 5>?55 2 << =5
4>?GE>45FEO

�D< =5>5E>4<<>EF<
?D><765EF< 74<5=G
6>?44OL5=

+

12 �>=FD>?L
E>EF>O=<O >D5?U6=OE
M?5<5=F>6

�>?FO < 74=>< 4>?6=O 5OFL
74FO=GFO

�D><765EF< 74FO6>G
>D5?U6=OE M?5<5=F>6 +

�D><76>4<FL 74<5=G ?DG6<= <5E4=<7<4 74>DO64=<O �, >464O5 FD<

7>44 =4 >E=>6=>< ?>E44>G=>< MF465, >464O5 L5EFL ?5F – =4 >EF4?L=OE

MF464E.
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7 &D4=E?>DF<D>64=<5 < ED4=5=<5

%D4=5=<5 �, ?<DF4 E GEF4=>6?5==O< =4 =<E M?5>FD>>5>DG4>64=<5< 4>?6=>

E>>F65FEF6>64FL GE?>6<O< ED4=5=<O 4?O <E?>?=5=<=:

-'%�4-2(%) ��%&15150 (=5>F4??<645<O5 ED4=<?<M4 6 <4>D>>?<<4F<G5E><E

D4=>=4E E G<5D5==O< < E>?>4=O< >?<<4F><);

- �4 - 3(�3) ��%& 15150 (=5>F4??<645<O5 ED4=<?<M4).

�> <75564=<5 ?>6D5645=<O ?D>4G>F4 =5 >?4EFL FO6U?O5 ?D54<5FO =4

?D>4G>F<N < =5 =4EFG?4FL =4 G4EF< �,, <75574FL ?>?444=<O 6?47< =4

F5??><7>?OF<>==O= <4F5D<4? EF6>D>> ?D>F<6>?>64D=OE 465D5=.

&D4=E?>DF<D>64=<5 >5>DG4>64=<O ?D><76>4<FEO 46F><>5<?L=O<,

65?57=>4>D>6=O< < 6>4=O< FD4=E?>DF>< 6 E>>F65FEF6<< E ?D46<?4<<,

45=EF6GNM<<< =4 MF<E 6<44E FD4=E?>DF4.

�> 6D5<O FD4=E?>DF<D>6>< 5G4LF5 >EF>D>6=O < 6=<<4F5?L=> E>5?N44=F5

E?54GNM<5 45=EF6<O:

- <54?5==> 6O?>?=O=F5 ?5D5<5M5=<O, ?D5464D<F5?L=> G4>EF>65D<6L<EL, GF>

=4 5?<7?564M5= F5DD<F>D<< =5F ?D5?OFEF6<= <?< ?N45=;

- ?>EF>O==> ?D>65DO=F5 ?D>G=>EFL 7DG74;

- E>65DL4=F5 ?5D5<5M5=<O, >EF>D>6=> < <54?5==> =4G<=4O < 7465DL4O <E,

4?O F>7>, GF>5O <75564FL 75=5D<D>64=<O >>?554=<=.

'E?>6<O FD4=E?>DF<D>64=<O �, ?<DF4 4>?6=O E>>F65FEF6>64FL GE?>6<O<

ED4=5=<O 4?O <E?>?=5=<=:

- '%�4 - 8(��3) ��%& 15150 (>F>DOFO5 ??>M44>< 6 <4>D>>?<<4F<G5E><E

D4=>=4E E G<5D5==O< < E>?>4=O< >?<<4F><);

- �4 - 9(��1) ��%& 15150 (>F>DOFO5 ??>M44><).

%D>> FD4=E?>DF<D>64=<O =5 4>?65= ?D56OL4FL 3 <5EOF4.

�5M<= ED>> ED4=5=<O =5 4>?65= ?D56OL4FL 21 <5EOF.
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�D<?>65=<5 �

(>5O74F5?L=>5)

%?<E>> >D<7<=4?L=OE 45F4?5= < E5>D>G=OE 54<=<F

&45?<F4 �.1

�7>5D465=<5 �4<<5=>64=<5
�>=EFDG>F>DE>>5

>5>7=4G5=<5

1 2 3

$>?<> 6 E5>D5

(4?O >4D5F>< 65DE=<=),

4<4<5FD 60 <<

0611�.26.01.030

$>?<> 6 E5>D5

(4?O >4D5F>< =<6=<=),

4<4<5FD 34 <<

0611�.26.01.040

$>?<>

(4?O 74<>4),

4<4<5FD 30 <<

1210�.06.01.096

$>?<>

(?>4 FD>E E<=ED>=<74F<<),

4<4<5FD 68 <<

1210�.06.01.620

�>?44OL

(4?O 54L<4>4)
0463�.36.07.003

�?NG

(E FD5G7>?L=>= >?NG56<=>=)
0463�.26.00.010
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�D>4>?65=<5 F45?<FO �.1

1 2 3

�4<>> 1210�.06.01.090

�4<>> �, (6 >><??5>F5: 74<>>,

74F5?, 6O>?NG4F5?L) 1210�.06.01.030

�<=5=>4

,� <56>E56>5 L, << ?D>D<?L

600 1280

7 2/857

0463�.36.01.0311

650 1380 0463�.36.01.031-01

700 1480 0463�.36.01.031-02

800 1680 0463�.36.01.031-03

900 1880 0463�.36.01.031-04

1000 2080 0463�.36.01.031-05

�<=5=>4

,� <56>E56>5 L, << ?D>D<?L

600 1015

7 2/857

0611�.26.01.002

650 1090 0611�.26.01.002-01

700 1165 0611�.26.01.002-02

800 1315 0611�.26.01.002-03

900 1465 0611�.26.01.002-04

1000 1615 0611�.26.01.002-05

1100 1765 0611�.26.01.002-06

1200 1915 0611�.26.01.002-07

�<=5=>4

,� <56>E56>5 L, << ?D>D<?L

600 643

7 2/857

0611�.26.01.003

650 693 0611�.26.01.003-01

700 743 0611�.26.01.003-02

800 843 0611�.26.01.003-03

900 943 0611�.26.01.003-04

1000 1043 0611�.26.01.003-05

1100 1143 0611�.26.01.003-06

1200 1243 0611�.26.01.003-07
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�D>4>?65=<5 F45?<FO �.1

1 2 3

&D>E

,� 4?<=4 L, <<

600 1090 0611�.26.01.060

650 1140 0611�.26.01.060-01

700 1190 0611�.26.01.060-02

800 1290 0611�.26.01.060-03

900 1390 0611�.26.01.060-04

1000 1490 0611�.26.01.060-05

1100 1590 0611�.26.01.060-06

1200 1690 0611�.26.01.060-07

&D>E

,� 4?<=4 L, <<

600 2621 0463�.36.01.080

650 2821 0463�.36.01.080-01

700 3021 0463�.36.01.080-02

800 3421 0463�.36.01.080-03

900 3821 0463�.36.01.080-04

1000 4221 0463�.36.01.080-05

�DG6<=4

,� 4?<=4 L, <<

600-650 337,6 0463�.36.01.042

700-1000 467,8 0463�.36.01.042-01

�4F5?

(4?O ?DG6<=O)
0463�.36.01.041

�O>?NG4F5?L

��3-2 ,���3602012-01

&' $� 700002620.017

-

�O>?NG4F5?L

AST 01 BB "ASTRA"

E LG=F>< CA 01 22

-

�O>?NG4F5?L ?GF56>= >>=5G=O=

���31-21-251-66'2.21�-1/90

(4?O 465D5= E DG=>F<5= «>ED4=4

L4EFO»)

-

L

L
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�>>=G4=<5 F45?<FO �.1

1 2 3

�O>?NG4F5?L

Pizzato FT 2A6451AU-E27
-

�D<6<<

(4?O >5D4<?5=<=)
0463�.36.00.006

�>D>7
,� 4?<=4 L, <<

600 606 0463�.36.05.005

650 656 0463�.36.05.005-01

700 706 0463�.36.05.005-02

800 806 0463�.36.05.005-03

900 906 0463�.36.05.005-04

1000 1006 0463�.36.05.005-05

1100 1106 0463�.36.05.005-06

1200 1206 0463�.36.05.005-07

�>D>7 >4=>DGGL56>=

,� 4?<=4 L, <<

600 1240 0463�.36.05.006

650 1340 0463�.36.05.006-01

700 1440 0463�.36.05.006-02

800 1640 0463�.36.05.006-03

900 1840 0463�.36.05.006-04

1000 2040 0463�.36.05.006-05

�>D>7 46GEDGGL56>=
,� 4?<=4 L, <<

600 960 0611�.26.05.006

650 1040 0611�.26.05.006-01

700 1110 0611�.26.05.006-02

800 1260 0611�.26.05.006-03

900 1410 0611�.26.05.006-04

1000 1560 0611�.26.05.006-05

1100 1710 0611�.26.05.006-06

1200 1860 0611�.26.05.006-07
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�D<?>65=<5 �
(E?D46>G=>5)

�5D5G5=L EEO?>G=OE 4>>G<5=F>6

&45?<F4 �.1

�5>7=4G5=<5 4>>G<5=F>6 �><5D ?G=>F4, 6 >>F>D>< 44=4 EEO?>4

��%& ISO 4162-2014 2.1, 2.2

��%& 5264-80 2.1, 2.2

��%& 5915-70 2.2, 2.3

��%& 5927-70 2.1, 2.2

��%& 6402-70 2.2, 2.3, 4

��%& 6958-78 2.2, 2.3

��%& 7798-70 2.2

��%& 10463-81 2.2

��%& 15150-69 7

��%& 17473-80 2.2, 2.3, 4

%&� EN 1661-2016 2.1, 2.2

&' �Y 400024166.011-2008 2.2, 2.3

&' �Y 400024166.012-2008 2.1, 2.2

&' $� 700002620.017-2004 �D<?>65=<5 �

��%& $ �%� 15979-2017 2.2

DIN 603:2017 2.1, 2.2, 2.3


